20 o

¢(S0;7) =0.105 mol * L™" ¢( AI'") =0.055 mol
<L pH=2.0

H*.S0;"  ¢(K*") ( ) o

A. 0.045 mol *+ L™ B.0.035 mol * L'

C. 0.055 mol » L' D. 0.40 mol + L™

1 SO; VK AP,
H'.OH" .
c¢(K*) +c(H™) +3c( AI'")
=2¢(S0;7) +¢(OH")
OH" :

c(K*") =2¢(S0;7) —¢(H") =3¢( AI'")
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=0.035 mol * L'

B.
2 MOH HA
(e
Ac(M*) >c(A7) >c(OH™) >c¢(HT)
B.c(M*") >c(A™) >c(H") >c¢(OH")
C.c(M™) >c(OH™) >c(A7) >c(H")
D.c(M*) +¢(H") =c¢(A”) +c¢(OH")

> (3) 2
______©° ( )

D A.D,
3 HCI
HR
100 mL  0.001 mol Mg*"
Mg 100 mL
pH  ( ) o
)
( )
( 12017 -07 - 15)
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A.2.0 B.2.3 C. 3.0 D. 7.0
1 mol Mg*"
2 mol H* 0.001 mol Mg*"

0.002 mol H”

o(HY) = 0].()02 mol

— o -1
0 L+0.]L_0‘01 mol * L

pH=2.0
A

4 20mL0.05 mol « ™" M"*
15 mL 0.1mol » L' §*°
s*- n ( ) o
A. 4 B.3 C.2 D. 1

S .o
20x107° x0.05 mol * L™ xn
=15x107 Lx0.1 mol « L' x2
n=3
B,
5

(o
A.

Ca’* + HCO; + OH ==CaCO, | +H,0
B.

Al +20H ==AlO, +H, 1

C. Co,

20H™ +C0,—CO0:” +H,0

D. Fe,(SO,) ,

Fe'" +H,S

Fe’" +S+2H"
B.D
A.C o
A.C,

e D] »
6 500 mL AgNO,
o pH 6.0 3.0
(
)
(o
A.27 mg B.54 mg
C. 108 mg D.216 mg
pH 6.0 3.0 ¢(H") =1.0
x10 7 mol « L™ n(H") 0.5 %10 “mol
(Ag")
Ag* 0.5 x 10 " mol
Ag :
0.5x10 *mol x 108 g * mol ™'
=54 x10 g =54 mg
B,
7 100 mL FeBr,
2.24 L Cl, 1/3  Br~
FeBr, o
Fe’* >Br~ Cl, Fe’”
Br- Br-
Fe’” Fe'" .
FeBr, x
Fe'” x Br~
2x e i 2%96 Ccl-
2.24 L <2
22.451?01 =2 mol * L
3¢(Fe'™) =¢(Br™) +¢(Cl7)
3x =%x +2 mol * L'
x=1.2mol « L'
FeBr, 1.2 mol L'
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